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QUESTION 1

Which address correctly represents a valid abbreviation for the 2bfc:0000:0000:0000:0217:0000:fe8c:5¢c85/128 1Pv6
address?

A. 2bfe::217:0:fe8c:5¢85/128
B. 2bfe:0:217:-fe8c:5¢85/128
C. 2bfe::0217::fe8e:5e85/128
D. 2bfe:0:217:0:fe8e:575/128

Correct Answer: A

QUESTION 2

Which two components are included in a transport header? (Choose two.)
A. source port number

B. source MAC address

C. destination MAC address

D. destination port number

Correct Answer: AD

QUESTION 3

Which two statements describe PFE functions are true?

A. The PFE implements rate limiting using policers

B. The PFE stores the master copy of the layer 2 and layer 3 forwarding tables
C. The PFE provides access to the CLI and Jweb

D. The PFE stores a local copy of the layer 2 and layer 3 forwarding tables

Correct Answer: AD

QUESTION 4
You need to recover the root password on a Junos router without losing the current configuration settings.

Which three statements describe what you should perform in this scenario? (Choose three.)
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A. Enter and commit the new root password.

B. Load the factory-default configuration.

C. Hit the space bar and enter recovery when prompted.
D. Upgrade the Junos OS to the latest version.

E. Use a console connection to reboot the device.

Correct Answer: ACE

QUESTION 5

A Junos device is configured with multiple routing protocols to the same destination prefix.
By Default, which route will be active in the forwarding table?

A. A static route

B. An OSPF route

C. An IS-IS route

D. A BGP route

Correct Answer: A

QUESTION 6

Which TWO of the following are private IP addresses?
A.12.0.0.1

B. 168.172.19.39

C. 172.20.14.36

D. 172.33.194.30

E. 192.168.24.43

Correct Answer: C

QUESTION 7

Which two actions happen when multiple users issue the configure exclusive command to enter configuration mode on
a Junos device? (Choose two.)

A. Other users can enter configuration mode.

Latest INO-105 Dumps | JNO-105 PDF Dumps | JNO-105 Braindumps 3/7


https://www.pass4itsure.com/jn0-105.html
https://www.pass4itsure.com/jn0-105.html
https://www.pass4itsure.com/jn0-105.html

VCE & PDF https://www.pass4itsure.com/jn0-105.html
a 2024 Latest passditsure JNO-105 PDF and VCE dumps Download
== / PassditSure.com

B. The candidate configuration is locked.
C. Other users cannot enter configuration mode.
D. The candidate configuration is unlocked.

Correct Answer: AB

QUESTION 8

What is the protocol data unit (PDU) of the Data Link Layer?
A. segment

B. byte

C. bit

D. frame

Correct Answer: D

QUESTION 9

Which two statements are correct about firewall filters? (Choose two.)

A. "Discard" is the default action of packets that are not explicitly allowed.
B. There can be only one firewall filter.

C. There can be multiple firewall filters.

D. "Accept" is the default action of packets that are not explicitly allowed.

Correct Answer: AC

QUESTION 10

Which two statements are true about the PFE? (Choose two.)

A. The PFE handles all processes that control the chassis components.

B. The PFE is responsible for performing protocol updates and system management.

C. The PFE uses Layer 2 and Layer 3 forwarding tables to forward traffic toward its destination.

D. The PFE implements various services such as policing, stateless firewall filtering, and class of service.

Correct Answer: CD
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QUESTION 11

What are two examples of exception traffic? (Choose two.)
A. ping to the local device

B. log messages

C. transit packets

D. routing updates

Correct Answer: AB

QUESTION 12

Click the Exhibit button.

user@router> show route

inet.0: 13 destinations, 14 routes (13 active, 0 holddown,
hidden)
+ = Active Route, - = Last Active, * = Both

0.0.0.0/0 *[Scatic/5b]| 00:05:38
> to 172.29.1.1 via ge-0/0/3.0

0

Referring the exhibit, what does the highlighted number indicate?
A. hop countis 5

B. costis 5

C. metricis 5

D. route preference is 5

Correct Answer: D

QUESTION 13

What are two protocols that the Junos OS uses to archive configuration files remotely? (Choose two.)
A. SCP

B. HTTP

C. SFTP
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D.FTP

Correct Answer: AD

QUESTION 14

Click the Exhibit button.

[edit protocols ospf]
user@router# show
area 0.0.0.0 {
interface all;
}
export [ policyl policy2 policy3 ]:
[edit routing-options]
user@router# show
static {
route 10.10.10.0/24 next-hop 192.168.1.254;

Referring to the exhibit, OSPF has three export policies that match different static route prefixes. The 10.10.10.0/24
static route does not match any terms in the policyl routing policy.

What happens next in this scenario?

A. The static route is rejected by the default routing policy.
B. The static route is rejected by the policyl routing policy.
C. The static route is evaluated by the policy2 routing policy.
D. The static route is evaluated by the policy3 routing policy.

Correct Answer: C

QUESTION 15
Which two fields are you required to enter when you create a new user account? (Choose two.)
A. login class

B. username
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C. user ID

D. full name

Correct Answer: AB
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